BY - AMIT SIR



N 1 R — |

17. A, B and C complete a work in 12, 15 and 20

days respectively. If the work is done in the

order A+B on the first day, B+C on the

second day and C+A on the third day, then in

how many days will the work be completed ?

A, B U4 C f&dl &1 &t $9: 12, 15, U9 20
ﬁa’fﬁmmﬂ%luﬁmmmaw
fGAB+c MM REACtATIHA A I ST @
&4 fbaq f&=T & wuTa g 2
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18. A, B and C can complete a work in 11, 20

and 55 days respectively. If B and C help A
every second day, then in how much time

will the work be completed ?

A, B 3R ¢ feft ®rdf &t 9 11, 20 U4 55
e A TuTa Y IFd g1 TP guN feT B
3R C, A P! HEE Hd g, a1 B fbad 9wy #
HHTE BRI

a) 7 b) 8

)9 d) 10




o 19. A, B 3R ¢ fdlt s +t wawn: 20, 30 3R 60

. A=5— | B T P Wl 8, IF T WP R R 8
pog ¢l PT3— 3R € GRT WETIET WTtd Hal 82

0 30 S 94-81-(: sand A, B and C can do a work in 20, 30 and 60

lQ—s i days respectively. In how many days can A

XS K.e complete the work, if he is assisted by B and

o0— | “"“gx‘ C on every third day?
a) 12 \\;I% 5

c) 16 d) 18
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20. 20 men can make 112 toys in 6 days.How

Z # p many toys can 35 men make in 3 days?
g _ 3BXY 20 3TeHT 6 fAT # 112 fAeA s991d € 1 35
M N st 3 AT A e R e it 2
wlt’ a) 94 b) 96
ll=9g )98 d) 99
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21. 24 men complete a work in 10 days. How

many men will complete this work in 30

days ?
S xif = MxZY 24 st feeht B @ 10 AT & T B
UY)=8] 2| fraa et 39 &rd &t 30 AT & @
B ?
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23. 12 men working 4 hrs a day can complete

o, ;{ 4/5 of a work in 20 days then how many men
18 x}/x@ _ MxgREF

can complete the remaining work in 10 days

}f/ | working 6 hrs a day?

[I"I=L1] 12 3MEHT 4hrs fafeT &1 H3d ¢ 20 &1 4
frit @ 1 2 T 1 FR € <t e simet
6 hrs Ufafea ®1d H3d gU 10 feA1 & 9w &rd

% QRT S 2
a) 3 \.B)/4

€)>5 d) 6
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24. Some men do a work in 30 days. If there

were 6 less men then it would have taken

s S
MX % = (M-G) Xé,/@ 6 more days. Find the number of men
initially ?
OM=6M-3 ¢
$o eH! fedt w1 #1 30 i1 A Fd B
l"|:56] afe 6 e &9 ga ot 6 &= afte eva
I YR H el &t . J1d H1A 2
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25. Some men do a work in 60 days. If there

were 8 more men, it would have taken 10

[lx 6?{ - Qv] +8) X‘S—% days less to complete the work. How many
M= 5M men were there in the beginning ?
=51+
° " $o reH! fadft =1d &Y 60 3T & FA T
M=l afg 8 aneHt aftre €13 @ »1d & &3 F 10
e o9 wwg AT gEena # fhaa enedt 4 2
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26. Ufe X ATSH! TP HTH 31 40 AT A W 3 &

X-L4f = (x+5). 38 IR 5 srfafvaa st @ |/ 10 AT 3t 79w
TR W S WO
Lx= 3X+I$ If X men complete a work in 40 days and

after adding 5 extra men 10 days are saved,

=<
X=is | thenmen will complete this work in:

l/% (a) 10 f&=i 9710 days
=50 D (b) 40 &= ¥/40 days
/ (c) 30 f&=T #/30 days

D=gp claa) e 20 =1 /20 days
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27. A contractor can finish a piece of work in

g L P 4 39 days by 35 workers. After 9 days, 7
éfg X = % XD more workers come, then in how many
[ %ﬁ d“a'g days the work will be finished?
TS 3BR 35 Auigdl g et o1d H1(39)
@%q%. ﬁﬂ’fﬁmwm%aﬁm
& (Pueigz R o1 o ¥ @ B e R
U WA BT 2
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28. In a military cantonment there was food for

190 days for 4000 soldiers. After 30 days 800

S
L'SWX |86 = 34 m XD soldiers left the camp. For how many days
will the remaining food last for the remaining
B=awo d‘ag'A / soldiers?
@ e o & 2000 AFHT F Rig(190)
ey feeit @1 @ Ut R0)fe aTe 800 A BTa
4 =
3 %:V &&05D BISH? I T F9T §AT WHT A9 VNS &
-- fRrg Rrer Rt v 2
N\ a) 100 b) 150
\£)'200 d) 250
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29. In a camp, there was food for 60 days for 66
soldiers, after 50 days 44 soldiers left, then

for how many days the food would have

3
Qéx lo= 35/6( D lasted?
feft Fma & 66 AP F feru(eo)fe=T =1 @I

D=3
s i GO RA ¥ wama 44 A 7@ A ¥ A
s @1 $d fbaq f¢7 a& garghm 2
0t 30= Qo O(Gar& a) 60 b) 65
c) 75 \,d{BO
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32. A does half the work of B in 1/8th time. If A
can do a piece of work in 12 days, then in

how many days will B do the same work?

ABﬁaﬂiﬂW%mﬁm%IﬂﬁAﬁT\‘ﬂ

o F)RA ¥ Fwar ¥ @ B 39 I B
fba FHg & S 2

KL b) 24

\6)48 d) 60
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